

# Differentiation Board Questions 2017 ✓

2017, 4 Marks



<https://www.youtube.com/watch?v=Rb-WcxrWJAM>

① If  $x^y + y^x = a^b$ , then find  $\frac{dy}{dx}$ .

② If  $e^y(x+1) = 1$ , then show that  $\frac{d^2y}{dx^2} = \left(\frac{dy}{dx}\right)^2$ .

① If  $x^y + y^x = a^b$ , then find  $\frac{dy}{dx}$ .

Solu Given  $x^y + y^x = a^b$   
differentiating w.r.t.  $x$ ,

$$\frac{d}{dx}(x^y) + \frac{d}{dx}(y^x) = \frac{d}{dx}(a^b) \rightarrow \text{Constant}$$

$$\Rightarrow \frac{d}{dx}(x^y) + \frac{d}{dx}(y^x) = 0 \quad \text{--- (1)}$$

Let  $u = x^y$

$\therefore \log_e u = y \log_e x$

$$\frac{1}{u} \frac{du}{dx} = y \cdot \frac{1}{x} + \log x \frac{dy}{dx} \Rightarrow \frac{du}{dx} = u \left( \frac{y}{x} + \log x \frac{dy}{dx} \right)$$

or  $\frac{d}{dx}(x^y) = (x^y) \left( \frac{y}{x} + \log x \frac{dy}{dx} \right) \quad \text{--- (2) ✓}$

Now let  $v = y^x \quad \therefore \log v = x \log y$

differentiating w.r.t.  $x$   $\frac{1}{v} \frac{dv}{dx} = x \times \frac{1}{y} \frac{dy}{dx} + \log y \cdot 1$

$$\Rightarrow \frac{dv}{dx} = v \left( \frac{x}{y} \frac{dy}{dx} + \log y \right)$$

or  $\frac{d}{dx}(y^x) = y^x \left( \frac{x}{y} \frac{dy}{dx} + \log y \right) \quad \text{--- (3) ✓}$

Putting the values from (2) & (3) into (1) ✓

We get  $x^y \left( \frac{y}{x} + \log x \frac{dy}{dx} \right) + y^x \left( \frac{x}{y} \frac{dy}{dx} + \log y \right) = 0$

$$\Rightarrow \left( x^y \log x + x y^{x-1} \right) \frac{dy}{dx} = - \left( y^x \log y + y x^{y-1} \right)$$

$\frac{dy}{dx} = \frac{y^x \log y + y x^{y-1}}{x^y \log x + x y^{x-1}}$  #

$$\Rightarrow \frac{dy}{dx} = \frac{y^x \log y + y x^{y-1}}{x^y \log x + x y^{x-1}} \quad \text{Ans.} \quad \#$$

② If  $e^{y(x+1)} = 1$ , then show that  $\frac{d^2y}{dx^2} = \left(\frac{dy}{dx}\right)^2$ . 2017, 4 Marks

Sol Given  $e^{y(x+1)} = 1$  ✓

differentiating w.r.t.  $x$ ,

$$e^y \frac{d}{dx}(x+1) + (x+1) \frac{d}{dx} e^y = \frac{d}{dx} 1$$

$$e^y \cdot 1 + (x+1) \frac{d}{dy} e^y \frac{dy}{dx} = 0$$

$$e^y + (x+1)e^y \frac{dy}{dx} = 0$$

$$e^y + \frac{dy}{dx} = 0 \quad \text{--- (1)}$$

$$\Rightarrow e^y = -\frac{dy}{dx}$$

Again differentiating w.r.t.  $x$ ,

$$e^y \frac{dy}{dx} + \frac{dy}{dx^2} = 0$$

$$\left(-\frac{dy}{dx}\right) \left(\frac{dy}{dx}\right) + \frac{d^2y}{dx^2} = 0$$

$$\frac{d^2y}{dx^2} = \left(\frac{dy}{dx}\right)^2 \quad \text{Ans.} \quad \#$$